Jade

Student 4: High Achieved

Intended for teacher use only

Drew on GC
h(t) =3.754 + 4.5

60 rotations in 60 seconds - unbelievable

h(t) =3.755in%(t—7.5)+ 4.25

Drew on GC
Looks good

h(t) =47 (t—7.5)+4.25
(t) 15( )+

Drew on GC
-period not correct

h(t) =4cosg—7g(t—15)+ 4.25

Drew on GC
60 rotations - unbelievable

So = h(t) =3.75sin %(t —7.5)+4.25is the correct equation. @

Manu:

Jade:
3.75sin %(t—7.5)+ 4.25>5

8.461<t<21.5385
38.461<1<51.5385

2z
40

. T
h(t) = 20sin—(t —10)+ 23 @
(t)=20sin_(t-10)

Manu:
5< ZOsinZ%(t—lo)+ 23 < 20 going up

2.87<1t<9.04 @
42.87 <t <49.04

82.87<1<89.04



